| Efficiency vs Dxy |

> 0.2
X
©
0 0.18
>
20.16
Q
©0.14
0.12
0.
0.08

0.06

eff

0.04
0.02

........................................................................

........................................................................

1.

Ratio

0.95

S ET50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_TT__mkFit_ORIG

[ Efficiency vs Dz | |—s— DQM_TT__mkFit_MODIF

N 0.2
©
€0.18
oy
.5 0.16
(&)
£0.14
()
0.12
0.1
0.08
0.06
0.04

0.02

!
S50 O

30 20 <10 0 10 20 30

TP dz (cm)

—+— /data2/legianni/newRel-PR129/sta/CMSSW_13_2_0_pre3/src/DQM_TT__MODIFok



	Contents
	Page 1


